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GENERAL INSTRUCTIONS TO THE EXAMINEES :

1) narjmWu gd©àW_ AnZo àíZ nÌ na AnZm Zm_m§H$ A{Zdm ©̀V… {bI|&

Candidate must write first his / her Roll No. on the question paper.

2) g^rg^rg^rg^rg^r àíZ A{Zdm ©̀ h¢&

All the questions are compulsory.

3) àË òH$ àíZ H$m CÎma Xr JB© CÎma-nwpñVH$m _| hr {bI|&

Write the answer to each question in the given answer-book only.
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4) {OZ àíZmo§ _| AmÝV[aH$ IÊS> h¡§, CZ g^r Ho$ CÎma EH$ gmW hr {bI|&

For questions having more than one part, the answers to those parts are to be
written together in continuity.

5) àíZ H$m CÎma {bIZo go nyd© àíZ H$m H«$‘m§H$ Adí¶ {bI|&

Write down the serial number of the question before attempting it.

6) àíZ nÌ Ho$ {hÝXr d A§J«oOr ê$nmÝVaU _o| {H$gr àH$ma H$s Ìw{Q> / AÝVa / {damoYm^mg hmoZo na {hÝXr ^mfm
Ho$ àíZ H$mo hr ghr _mZ|&

If there is any kind of error / difference / contradiction in the Hindi & English
versions of the question paper, the question of Hindi version should be treated
valid.
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IÊS> - A

SECTION - A

1) ZrMo {X¶o J¶o àíZm| ‘| go ghr {dH$ën H$m M¶Z H$a Xr JB© CÎma-nwpñVH$m ‘| {b{IE : [12×1=12]
Choose and write the correct option for the following questions in the given
answer-book :

i) à~ÝY H$m ‘hÎd h¢ -

A) {d{eï>rH$aU ~) H$m¶m©Ë‘H$ {d^oXrH$aU

g) J{Verb g§JR>Z H$m {Z‘m©U X) g§JR>Z H$m AmH$ma

Importance of management is -

A) Specialisation B) Functional differentiation

C) Creates a dynamic organisation D) Size of organisation

ii) {Z¶moOZ h¡ -

A) A{daV ~) ‘Ü¶H$m{bH$

g) AënH$m{bH$ X) XrK©H$m{bH$

Planning is -

A) Continuous B) Middle-term

C) Short-term D) Long-term

iii) {Z¶wº$sH$aU Ho$ nhby h¡ -

A) Xmo ~) VrZ

g) Mma X) nm±M

Staffing aspects are -

A) Two B) Three

C) Four D) Five
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iv) go~r H$mo d¡Ym{ZH$ {ZH$m¶ H$m XOm© {X¶m J¶m -
A) 1992 ~) 2000
g) 1988 X) 1995
The SEBI was given a statutory status on -
A) 1992 B) 2000
C) 1988 D) 1995

v) A{^àoaUm à{H«$¶m H$m àW‘ MaU h¡ -
A) AgÝVwï> Amdí¶H$VmE§ ~) VZmd
g) AmdoJ X) VZmd ‘| H$‘r
The first step of motivation process is -
A) Unsatisfied need B) Tension
C) Drives D) Reduction of tension

vi) {dnUZ {‘l Ho$ VÎd h¡ -
A) EH$ ~) Xmo
g) VrZ X) Mma
The elements of marketing mix are -
A) One B) Two
C) Three D) Four

vii) A§JyarbVm g§åàofU ‘| g~go A{YH$ bmoH${à¶ h¡ -
A) Jnen ~) BH$har l¥§Ibm
g) g‘yh X) g§å^mì¶Vm
The most popular in grapevine communication is -
A) Gossip B) Single strand
C) Cluster D) Probability

viii) AmdV© AZwnmV H$m CXmhaU h¡ -
A) Mmby AZwnmV ~) XoZXma {~H«$s AZwnmV
g) ñdm{‘Ëd AZwnmV X) erK« AZwnmV
An example of turnover ratio is -
A) Current ratio B) Debtors turnover ratio
C) Proprietary ratio D) Quick ratio
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ix) à^mdr g§åàofU H$s g§Ho${VH$ ~mYm h¡ -

A) VH$ZrH$s {d{eï> eãXmdbr ~) Agm‘m{¶H$ ‘yë¶m§H$Z

g) nXdr X) {Z¶‘
The semantic barriers of effective communication is -
A) Technical jargon B) Premature evaluation
C) Status D) Rules

x) {Z¶ÝÌU H$m ‘hÎd h¡ -

A) gVV² à{H«$¶m

~) {Z¶moOZ A{^‘wIr

g) H$m¶© ‘| g‘Ýd¶ H$s gw{dYm

X) JË¶mË‘H$ {H«$¶m

Importance of control is -
A) Continuous process
B) Plan oriented
C) Facilitating co-ordination in action
D) Dynamic activity

xi) Cn^moº$m Ho$ Ñ{ï>H$moU go Cn^moº$m g§ajU H$m ‘hÎd h¡ -

A) gm‘m{OH$ CÎmaXm{¶Ëd ~) g‘mO Ho$ g§gmYZm| H$m Cn¶moJ

g) gaH$mar hñVjon X) Ag§J{R>V Cn^moº$m

Consumer protection is important from the consumer point of view -
A) Social responsibility B) Utilisation of resources of society
C) Government intervention D) Unorganised consumers

xii) à~ÝYH$s¶ {Z¶ÝÌU H$s AmYw{ZH$ VH$ZrH$ h¡ -

A) gm§p»¶H$s¶ à{VdoXZ ~) g‘{dÀN>oX {~ÝXþ {díbofU

g) {d{Z¶moJm| na Am¶ X) ~OQ>r¶ {Z¶ÝÌU
Modern technique of managerial control is -
A) Statistical report B) Break-even point analysis
C) Return on Investment D) Budgetary control
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2) [a³V ñWmZm| H$s ny{V© H$aVo hþE CÎma-nwpñVH$m ‘| {b{IE : [6×1=6]

Fill in the blanks and write in the answer-book :

i) .............. ‘| {ZU©¶ aMZm {Z{hV h¡&

_______ involves decision making.

ii) M¶Z à{H«$¶m ‘| ............. H$mo M¶Z H$aZm h¡&

In selection process choosing the _______.

iii) ny±Or ~mOma H$mo .............. ^mJm| ‘| ~m±Q>m Om gH$Vm h¡&

The capital market can be divided into _______ parts.

iv) {ZX}eZ H$‘©Mm[a¶m| H$m ............... H$aVm h¡&

Directing ________ employees.

v) Cn^moº$m ‘m‘bm| H$m {d^mJ (^maV gaH$ma) Cn^moº$mAm| ‘| OmJê$H$Vm n¡Xm H$aZo Ho$ {bE "..............'
A{^¶mZ Mbm ahm h¡&

Department of consumer affairs, (GOI) has been undertaking ________
campaign, for generating awareness among consumers.

vi) .................. D$na go ZrMo H$s Va’$ àdm{hV hmoVm h¡&

________ flow from top to bottom.
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A{V bKwÎmamË‘H$ àíZ :

Very Short Answer Type Questions :

3) {ZåZ àíZm| Ho$ CÎma EH$ n§{³V ‘| Xr{OE : [12×1=12]
Answer the following questions in one line :
i) ""à~ÝY EH$ gd©ì¶mnr {H«$¶m h¡&'' H¡$go?

"Management is all pervasive activity." How?
ii) {d ôXmË‘H$ nm[al{‘H$ àUmbr H$m AW© ~VmBE&

Mention the meaning of differential piece wage system.
iii) {Z¶moOZ ‘| "à{H«$¶m' H$m ³¶m AW© h¡?

What is the meaning of 'Procedure' in planning?
iv) AmnH$s am¶ ‘| à^mJr¶ g§JR>Z T>m§Mm H$hm§ Cn¶wº$ h¡?

In your opinion, where the divisional organisation structure is suitable?
v) H$‘©Mm[a¶m| Ho$ M¶Z ‘| "~w{Õ narjm' H$mo ñnï> H$s{OE&

Explain the 'Intelligence Test' in selection of employees.
vi) A{^àoaUm EH$ bú¶ AmYm[aV ì¶dhma H$mo OÝ‘ XoVr h¡, EH$ CXmhaU Xr{OE&

Motivation produces goal directed behaviour. Give an example.
vii) àmW{‘H$ ~mOma H$m Xÿgam Zm‘ ³¶m h¡?

What is the other name of primary market?
viii) H$m¶m©Ë‘H$ g§JR>Z T>m§Mo H$m AW© {b{IE&

Write the meaning of functional structure of organisation.
ix) Cn^moº$m OmJê$H$Vm H$m AW© ~VmBE&

Mention the meaning of consumer awareness.
x) AmnH$s am¶ ‘|, g§JR>Z H$m EH$ ‘hÎd {b{IE&

In your opinion, write an importance of organisation.
xi) go~r H$m EH$ "{Z¶‘ZH$Vm©' H$m¶© {b{IE&

Write a 'regulatory' function of SEBI.
xii) {dkmnZ gm‘m{OH$ ‘yë¶m| ‘| H$‘r H¡$go H$aVm h¢?

How does advertisement undermines in social values?
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IÊS - ~
SECTION - B

bKwÎmamË‘H$ àíZ : àíZ g§. 4 go 16 VH$ àË¶oH$ Xmo A§H$ H$m h¡ : [13×2=26]
Short answer type questions. Question Nos. 4 to 16 are of two marks each.

4) noeo H$s {H$Ýht Xmo {deofVmAm| H$mo ñnï> H$s{OE& [1+1=2]

Explain any two characteristics of profession.

5) "H$m¶© nÕVr AÜ¶¶Z' ³¶m h¡? [2]

What is the 'Work method study'?

6) n¡Ho$qOJ Ho$ Xmo ñVam| H$mo {b{IE& [1+1=2]

Write two levels of packaging.

7) amï´>r¶ Am¶moJ H$mo g§jon ‘| g‘PmBE& [2]

Explain the 'National commission' in brief.

8) {dÎmr¶ {ZU©¶ Ho$ AÝVJ©V {Zdoe gå~§Yr {ZU©¶ H$mo ñnï> H$s{OE& [2]

Explain the investment decision under the financial decision.

9) A{YH$ma AÝVaU d {dHo$ÝÐrH$aU ‘| {ZåZ {~ÝXþAm| Ho$ AmYma na AÝVa ñnï> H$s{OE& [1+1=2]

A) pñW{V ~) joÌ

Explain the difference between delegation and decentralisation.

a) Status b) Scope
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10) EH$ à~ÝYH$ Ho$ ê$n ‘|, {Z¶ÝÌU à{H«$¶m Ho$ àW‘ Xmo MaUm| H$mo ñnï> H$s{OE& [1+1=2]
As a manager, explain the first two steps of controlling process.

11) ny±OrJV dñVwAm| H$m dJuH$aU MmQ>© Ûmam H$s{OE& [2]
Classify the capital items by the chart.

12) Am¡nMm[aH$ gåàofU Ho$ {ZåZ V§Ìm| H$mo MmQ>© Ûmam àX{e©V H$s{OE - [1+1=2]
A) MH«$ ~) Jmobm

Show the following networks of formal communication through a chart -
a) Wheel b) Circular

13) Cn^moº$m Ho$ {ZåZ A{YH$mam| H$mo g‘PmBE - [1+1=2]
A) AmídñV hmoZo H$m A{YH$ma

~) gwZdmB© H$m A{YH$ma
Explain the following rights of consumer -
a) Right to be assured
b) Right to be heard

14) AmnH$s am¶ ‘| Hw$ebVm H$m AW© ~VmBE& [2]
In your opinion, mention the meaning of efficiency.

15) H$m¶©erb ny§Or H$s Amdí¶H$Vm H$mo à^m{dV H$aZo dmbo {ZåZ KQ>H$m| H$mo g‘PmBE - [1+1=2]
A) ì¶dgm¶ MH«$
~) ‘m¡g‘r H$maH$
Explain the following factors to affecting requirement of working capital -
a) Business cycle
b) Seasonal factors

16) d¡¶{º$H$ {dH«$¶ Ho$ Xmo bm^m| H$mo {b{IE& [1+1=2]
Write two merits of personal selling.
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IÊS> - g

SECTION - C

àíZ g§. 17 go 20 VH$ àË¶oH$ VrZ A§H$ H$m h¡ : [4×3=12]

Question Nos. 17 to 20 are of three marks each.

17) EH$ {dÎmr¶ à~§YH$ Ho$ ê$n ‘§o àmW{‘H$ Ed§ {ÛVr¶H$ ~mOma ‘| H$moB© VrZ AÝVa ~VmBE& [3×1=3]

As a financial manager, mention any three differences between primary and
secondary market.

18) {d‘wÐrH$aU H$m ‘wÐm/ã¶mO Xam| na à^md ~VmBE& [3]

Mention the impact of money/interest rates of demonetisation.

19) EH$ à~ÝYH$ Ho$ ê$n ‘| {Z¶moOZ à{H«$¶m Ho$ àW‘ VrZ MaUm| H$mo g‘PmBE& [3×1=3]

As a manager, explain first three steps of planning process.

20) AmnH$s am¶ ‘|, Am¡nMm[aH$ g§JR>Z Ho$ Xmofm| H$mo ~VmBE& [3]

In your opinion, mention the disadvantages of formal organisation.
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IÊS> - X

SECTION - D

àíZ g§. 21 go 23 VH$ àË¶oH$ Mma A§H$ H$m h¡ : [3×4=12]
Question Nos. 21 to 23 are of four marks each.

21) à~ÝYH$s¶ {gÕm§Vm| Ho$ ê$n ‘| "AmXoe H$s EH$Vm' d "{ZX}e H$s EH$Vm' ‘| H$moB© Xmo AÝVa ñnï> H$s{OE&
[2+2=4]

Clarify the two differences between 'Unity of command' and 'Unity of direction' as
the managerial principle.

AWdm/OR
à~ÝY Ho$ {gÕmÝVm| Ho$ ‘hÎd Ho$ {H$Ýht Mma {~ÝXþAm| H$mo ñnï> H$s{OE& [4×1=4]
Explain any four points of importance of principle of management.

22) EH$ à~§YH$ Ho$ ê$n ‘|, "M¶Z' d "ñWmnZ EOoÝgr' H$mo ñnï> H$s{OE& [2+2=4]
As a manager, clarify the 'selection' and 'placement agencies'.

AWdm/OR
EH$ à~§YH$ Ho$ ê$n ‘|, ^Vu d à{Vjm gyMr H$mo g‘PmBE& [2+2=4]
As a manager, explain the 'Recruitment' and casual callers.

23) "ñWmB© ny§Or' Ed§ {dÎmr¶ {Z¶moOZ H$m AW© g‘PmBE& [2+2=4]
Explain the meaning of 'Fixed Capital' and Financial Management.

AWdm/OR
ny§Or g§aMZm H$mo à^m{dV H$aZo dmbo "ã¶mO AmdaU AZwnmV' Ed§ "G•U godm AmdaU AZwnmV' H$m dU©Z
H$s{OE& [2+2=4]
Describe the 'Interest coverage ratio' and 'debt service coverage ratio' affecting the
capital structure.
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